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£20 - £14.29

What is 520 divided by 10?

A train leaves Manchester at 07:40. It takes 2 hours and 12 minutes to
get to Bristol. What time does it arrive in Bristol?

The time is 12:52. Bob's watch is 2 hours and 15 minutes slow. What time
does Bob's watch say?

1,000 people can fit on a ferry. If each ticket costs £24, how much
would the ferry company make if the ferry was full?

Jonathan was booking a holiday for his family. The flights cost £876.50
and the hotel cost £1067.
What is the total cost of the hotel and the flights?

To work out the range of a set of numbers you take the lowest number
from the largest number.

Work out the range of these numbers.
7.19 0.917 9.1 7.0019 0.77



